
SAP ABAP table T866Z {Elimination of IC P/L: Assignment of additional fields}

T866Z

MANDT [CLNT (3)]

PRODG [CHAR (5)]

RMVCT [CHAR (3)]

ADFLD1 [CHAR (10)]

ADFLD2 [CHAR (10)]

ADFLD3 [CHAR (10)]

T000

MANDT [CLNT (3)] T866Z-MANDT = T000-MANDT 0..N

1

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)] T866Z-RMVCT = T856-TRTYP 0..N

1
T85A

MANDT [CLNT (3)]

ADFLD1 [CHAR (10)]

 T866Z-ADFLD1 = T85A-ADFLD1 
0..N1

T85B

MANDT [CLNT (3)]

ADFLD2 [CHAR (10)]

 T866Z-ADFLD2 = T85B-ADFLD2 

0..N

1

T85C

MANDT [CLNT (3)]

ADFLD3 [CHAR (10)]

 T866Z-ADFLD3 = T85C-ADFLD3 

0..N

1


